1 000 A(2010/04/15): 0O00DODOOOOO (1)
oo

000 AQDO0DO0O0ODOO0O0OO,0000D00000. 00000, 00D000000000000
gbooboobogob.bogobo,goobogbo,0ooboboobobooooboo.
0
1

[0 DDOOO
[
2

[

]
|oooooo
| 00o0oooo
]

J000ooon

guooooood
O0,/0ROODO0OOOODOOCOOOO.

00 1.1. 00 ¢: I —R? (000000 ¢(J))0 0000000 00,00000000:
(i) cO C-0O,
(i) Yt e I, ¢(t) # (0,0).

0 1.2. 00 (1),(2) 00000000000, (3) 000000000000
(1) c:R—R%:t s (t,0),
(2) ¢: R — R?: ¢ (cos(t),sin(t)),
(3) c: R —R%:t s (t3,¢2).

gogoooood

00 1.3. C~-00 f:I—-ROODOO,
(1) {(z, f(x)) eR* |z e} 0 y=f(z) 0000
2) {(fy),y) eR? |yecl} 0 xz=f(y) DODODO OOO.

o0 14. 000000000 0OOODOODODODODOO:

(1) 0000,0000000000
(2) 0000000 ¢:/—R20,0000000000000
(0000,vtel, 3 cI(t0000): ¢(I’)000000000).

00 1.5.012(3)0000,00000000000,0000000.



2 000 A(2010/04/22): 000D (2)
00000000 (o0)
00 14(2)00000,0000000000.

00 2.1 (00000). 00 f:1—-RO C®000,ecl000.00 f(a)#00000
00,f0 0000 C~-00000000.

gogodooood

00 2.2. U0 R20000,F:U—RO0OO0OOOO. 0000, F(z,y)=00,000000
00 00000 00,00000000:

() FO C-0,

gdgd (JF)(z,y)D Jacobi 00O O0O. 0O0ODO,
(JF)(x,y) = (FwaFy)(x,y)a ggog Fa: ::%
0 2.3. 00 (1),(2)00000000000000000,((3)0000000:
(1) ax+by+c=0(000 (a,b) #(0,0)),
(2) 332—|—y2—1:O,
(3) y? — a3 —22=0.

00 24. 00000000000O0OO0ODO0ODOO,OD0DO0DODODAO:

(1) gooo,0bdoogooooooog,

(2) F(:L‘,y):ODDDDDDDDDDDDDDDDDD,DDDDDDDDDDDDD
(0000, Va,b) €U (F(a,b) =0), 30" C U ((a,b) 0000): {(z,y) € U’ | F(z,y) =
0})ooooooooon).

0024 (2)00000,0000000000.

00 25 (00000). F:U—-RO C®00000, F(a,b)=0000. 00 Fy(a,b) #0
000, F(z,y) =00 (a,b) 0000 y=f(z) 000000000.

00 26.023(3)0000,00000000000,0000000.



3 000 A(2010/05/06): DOODODO (1)
gooooood
oo,D0O R?2O00000000000O0.

00 3.1. 00 p: D —R3 0 (000000 0) 00000 ODO,00000000:
(i) pO C*-0O,
(i) V(u,v) € D, rank(Jp)(y,v) = 2.

00 3.2. 000, (2,3)-00 A= (z,y) 0000, rank(A)=20000000000, {z,y} O
000000000000. 00000, (000:rank0000,0000000000000.)

0 3.3.00 (1)000000000000,(2)0000000:
(1) (00) p:R2 - R3: (u,v) »ud+vb+¢ (000 @GbeR*00D000),
(2) OO)p: R >R (u,0) = (2(u),y(u), 2(u)).

00 3.4. 0000000 ¢: I —=R2:tsc(t)=(x(t),2z(t) 0 Vtel,z(t)>0000000
0.0000,0000000000000 (D00 c¢c0O0OO0OOD):

cos(u) —sin(u) 0 z(v)
p:RxI—-R: (u,v)— [ sin(u) cos(u) 0 0
0 0 1 z(v)

0 3.5. 000000000O00O0ODOO:
(1) (00) p:R%2 - R3: (u,v) — (cos(u),sin(u),v),
(2) (O0) p:Rx (—7/2,7/2) — R3: (u,v) — (cos(u) cos(v), sin(u) cos(v), sin(v)),
(3) (DDOD) p:R2 —R3: (u,v) — (cos(u)(2 + cos(v)), sin(u)(2 + cos(v)), sin(v)).

gogodooood

00 3.6. C*-00 f:D—ROOO0O,z=f(z,y) 0000 0000O000: {(z,y, f(z)) €
R3| (z,y) € D}. 00,2 = f(y,2) 0 y=f(z,2) 000000000000,

00 3.7.00000000OO0O0OOU0DOOO,0DbbOO0OOOODO:

(1) 0000,0000000000000000,
(2) 0000000000000 p:D—R30,0000000000000
(0000, Y(u,v)eD, 3D’ ¢ D ((u,0) 0000): p(D)000000000).



4 000 A(2010/05/1300): O0OOOOO (2)
gogooogd

00 41. UO R*0000,F:U—ROOOOO0D. 0000, F(z,y,2)=00,00000
ugboo obooog bg,0bboobod:

(i) F O C>~-0O,

(i) F(x,y,2) =0 = (JF)(z,y,) # (0,0,0).

0 4.2. 00 (1), (2),(3)00000000000000000:
(1) (00)ax+by+cz+d=0 (000 (a,b,c)#(0,0,0)),
(2) (OO)2* +y°-1=0,

B) (OO) 22 +y>+22—-1=0.

00 4.3. 00000 0oDbOO0o0oobOoobooo,0b0o0oboooog:
() DoO0O0,00000U0O0UOUOoOOn,
(2) F(z,y,2)=0000000000000000000,00D000D0000000O
(0ooo, Ya,b,c) €U (F(a,b,c) =0), U CU ((a,b,c) 00O0D0) : {(x,y,2) € U |
F(z,y,2)=0}000000000).



5 00O A(2010/05/1300): 000000 (1)

000 (DOO00o0O0oO00O0O00O0)0O0,00000000000000000. 000000
0O0,00000,000000000000D00 RMO0O0O00O0OODOOO0OOOOOOODO. OO
oo0,000000OR™0O0O00DOO0O00OCO0O0ODOOObOOOODOOO.

gooooood

00 5.1. MOOOOO,UD0 MOOOO,e:U—-R™O000000. 0000, (U,p) 0 M
Om0O00 0000 0O0,00000000: 30 CcR™(000)st.p:U—-U'0000OO0.

0d 5.2, MOOOOOODOO.ODOOO, MO mOO OOOO0O OO,0000DO00O:

() MOOOOODOOOO,
(ii) Vpe M, 3(U,9) (mO0OO0O00)st.peU.

0 5.3.00 (1)0D000O0O0OO0O,(2)0000000:
(1) C*-000 f:I—-RO0ODO,y=f(z) 0000,
(2) M:={(z,y) eR?* | z=0000 y=0}.

goodoooogo

00 5.4. MOOOODOO, (U, (V,y) 0000000, UNV£0000.0000,000
00 (U,e) 00O (V,4) 0O 0000 O000: Yo t:pUNV)—ypUNV).

Ods55. MO mODOOOOOOO O0O,00000000:

() MO mOOODDOOO,
(i) 00000000 ¢™=-0.

0 5.6. C*-000 f:I—-RO0O0O0O,y=f(x) 00000 10000000OO.

00 5.7. 00 St :={(z,y) eR? |22 +¢4?=1}0000,00000000000 (Uy,¢1) 0
0 (Uy,e) 0000000 C®-000000000 (000000000 O000O0):

Up:={(z,y) €S |2>0}, ¢1:U1 —R:(2,9) vy,
Us = {(may)esl |y >0}, ¢2:Us = R:(z,y)— x.



6 OO0 A(2010/05/20): DOODOOO (2)
googoooooogo

00 e6.1. MOIDOOODOOOD. ODOO, MO mOdOOOODOODOOODOODOODO,O00O
gooooo:

() MOOODOOOOO,
(i) H{(Ua,pa)} st. {Us} 0 MOOOD,00,0 (Ua,pe)d mOOO0000.

00 (i) 0000 {(Ua,pe)y 0 00000 OOO.

ogooooood
0 6.2. R*" 0000 U#0)0,m00000000000.

00 6.3. U0 R™"OOOO, f:U—-R*0O C®-00000, fO0D0O0DOOOOOOO:
graph(f) := {(p, f(p)) e R™*" [pe U}. 0OODO,

(1) 7 : graph(f) — R™: (p, f(p)) —mp OO0 O0O, (graph(f),~) 0 mOOO0D0OO,

(2) D00DOO00OO00, graph(f) 0 mO0DOO00DOOD.

0 6.4. S":={peR"™||]p|?=1}0n00000000000 (0000000 000O).

00 6.5. 20000 S20000,00000000000 (Uy,e;) 00 (Us,p2) 000000
0 C~-000000000 (0000000000000):

Uy := {(x,y,z) 652 ’33>0}, 9013U1_>R: (xay»Z)H(y,Z%
Uy :={(z,y,2) € S* |y >0}, 2:Uy —R:(z,y,2)— (z,2).



7 00O A(2010/05/27): 0ODODO (3)
00000000 (o0)

O000000oDooooooooo,00000d0oooo,0o00og Cce-0ooooooo
gobobooooob. bogooobobbooooobb,bbboooobbbooooobobo
ooboooog.

07.1.00 80,00 {Us,¢.),U_,e_)}0000 100000000:

X

pt = (0,£1), Ug:=S"\{p+}, wi:Ui*Rm:(x’y)H1¢y'

oboboog, e+ 0 py 000000 2-00000000, -0 p- 000000 2z-000
gooboo.gobooobuoo bbb bboo. gogboboooboooboo,0ob0booobo
20000000D000DC0OOO.

07.2.mO0000 80,00 {({Ug,ey), U_,p_)} 0000 mDOOO000O0OO:

P+ = (O,,,,,O,:l:]-), Ui = Sm\{pi}7

x1 Tm

Uy >R (21,...,Tm L S L .
pE £ (‘Tl v +1) - (1 F Tm+1 1 F Tm+1

00 7.3.m=20000,0 7.200000000000000, (Uy,ey) 00 (U_,p_) 00
00000000 (00000000000O00).

gogodooooooad

goboobooobboooobobooooobbooo,obbooooboboooobbooon
gboboobooon.

00 74. U0 R20000,F:U—-ROD0DO0, F(z,y)=00000000000000
0000. 0000, M :={(z,y)eU | F(z,y)=0}0 100000000000.

gboobooobogoboobo,oobboobooboboob,boobbogbog.



8 OOD A(2010/06/03): DOODOD (4)
000000ooooooo (o)

00 81. U0 ROOOD,F:U—ROODODDO, Fz,y,2)=0000000000000
00000.0000,M:={(z,y,2) €U | F(z,y,2)=0}0 200000000000,

00 82. UOR™OD000,F:U—R"0 C®-00000,M:={pelU|F(p) =000
0.00 rank(JF), =k (Ype M) 000000, MO m—kO00D00000O000DO.

00000000000000000000,00 820 (m,n,k)=(2,1,1)000000,0
00000000000000,00 820 (m,n,k)=(3,1,1)000000.

00 83.00 820 (myn,k)=(3,1,1)000000,peMO00 U, 0 z= f,(y,2) O
000000,00 ¢qeMOOD U,0 y=f,(z,2)0000000000000. 0000,
U,NnU,#00000000,U,00 U,0000000000.

0 84.00 (1),(2) 0,00 82000000000 FOOOOD,0DOD0ODOODOO:
(1) nODOOO0 S,
(2) DO0O0O00O SL,(R) :={g € M,(R) | det(g) = 1}.

goboggoobgaon

o0 85. MO mODOOOOODOODO,NOnnOOODOOOODODOD.OOOD,00 MxN
UOm+n0000000000O.

0 86.00000000000000,S'x8'000000,200000000000.
00 8.7. RP*":={{cR*'|0e€(¢:00}0 000 00000 OO0,

00 8.8. 00000 RP*O0000,000000:
(1) X =R\ {0} 00000000 2~y 3e#£0:2=cy0000000.0000,
000 X/~0 RP"O00000000000.
(2) RP"0 n00000000000000.

gdddooooooooooua

00 8.9. 0000000000000 00000000O0ONONONNONOND,000000000
0oo: (1) 00, (2)00,(3)00000, (4 o00oo0oo.



9 00O A(2010/06/17): DODOOOOOOO (1)
Cc>~-000

o0 9.1. MODOOODOOO, f:M—-ROOODOOOOO.
(1) fO0peMO C®000,00000000:3(U,¢): 0000 st.pelU0D0 fop!
O ¢(p) O C>-0O.
(2) 0 C>®-0 00,00000000:VpeM, f0 pO C®-0.

092, U0R"OUDODODODODOD (U0DO0ODDOODODOODOOODO). DODODO,00 f:U—-R
0,00 910000 C~-0000000,000 (0000)000 C*-000000000.

00 9.3. M OOOOOOO, {(Us, )y 00000000, f:M—-ROO000O0OO.
() fOpeMD C>-00000000000000,00000000: Va (pe Uy),

fopa!' O walp) O C=-O.
(2) f0 C~-00000000000000,00000000: Vo, foyp;! 0 C®-0O.

0 9.4.00 §'00000000000000000. 0000, f:8 S>R:(z,y)—yl
Cce-00o.

00 9.5. 00 S$'000000000000000000. 0000, f:8" >R:(z,y)—y
0 ¢c~-00000000000.

OO0oOooo Cc*-000

UOR™O000,F:U—R"0 C®-00000,M:={peU|F(p)=0}000.00
00, Jacobi 00 (JF), 00000000000, M 00000000000 (00 8.2).

00 9.6. 000000 M:={peU|F(p)=0}0000.0000,f:U—RO C®00
00,0000 fly:M—RO C®-0000.

09.7.00 S*"0000,f:8"—>R:(x1,...,2p41)—x; 0 C*-000.



10 OO0 A(2010/06/24): D00OO0OO0OOO0O (2)

o000 M, NODODOOOOOODO.

c>-00ond

o0 10.1. 00 f: M —-NOOOOODO.
(1) fOpeM D C>-0 00,00000000: 3(U,¢): MOOOOO,3I(V,4): NO
D000 st.pelU, f(p)eV OO Yofoe O ¢p) 0 Cx-0O.
(2) fO C~-0 00,00000000:VpeM, fO0 pO C®0.

00 10.2. 00 f: M - NOODODOOD. 0000, fO0peMO C®00000000
000000,00000000: V(U,¢): MDOOOOO (peU),VY(V,y): NOOODD

(f(p) €V), Yo fop=tO pp) O C®-0.

0 10.3. SY(r) 0,00 r>0000000 (0DOO0O, S'Y(r) = {(z,y) € R? | 2% +y? = r?}).
0000,00 C*°-000000: f:SYry) — St(re) : pr (ro/r1)p.

0 10.4. 00 C~-000000: f:S"—>RP":p—[p]. 000D0D0DO,[p)0 pOOOOOO
(0000 00 pOOOOO0)O000.

00 10.5. C*-0000 C*-0000000,C*-000000.

c>-00

00 10.6. 00 f: M —-NO C*-0000 OO0OO0O,00000000:

(i) fOoO0O0DO,
(i) fO f710C~000.

MO NDOO C*-000D0ODO0O0OO0O0O0O00, MO NO C*-00 000000O.

0 10.7. 0000D0O:
(1) St(ry) O Sl(re) O C*-00,
(2) $'0,000000000000000000000 (S$Y),,01000000000000
ooooooooo (SYHY,0oooooo.ooog, (SY); 0 (SY), 0 ¢c>-00.

00 10.8. 0000 id: (SY, —» (SY), 0,0 p:=(z,y) (000 2>0) 0000 C*°-000
O0o0oooooo.



11 000 A(2010/07/01): DOODOOO (1)
ogoogog

0d 11.1. MOOOOODOOOOOOO,peMODOO.O0DOO,

(1)UGR2D MOppODO ODO0O0OO OO0,00000000:
Fy: (—e,6) = R2: C°-0 s.t. y((—¢,¢)) € M, v(0) = p, ¥'(0) = v.
(2) T,M :={p+veR?|v0 pOO0DO0D0}0 MO pOO 00 0OOO.

0 11.2. 00 $'0000000000:VaeR, (0,0)0 p=(1,00000000000.

00 11.3. 00 M OO0O,c: ] >R?00000000, F(z,y)=00000000000,
(1) p=c(to) DODDDDODOODOOO: {p+sc(ty) | seR}=T,M={p+u| (JF),u=0},
(2) T,M 000 (0000 100000000)000.

ogooooodoon
000000 MOODOO,C®M):={f:M—-R:C~0}0000.

00 11.4. M OODODODOOOO,C®M):={f:M—R:C>~0 }0000.0000,

(1) C>~-000 ¢: (—6,e) > MO0O0,0000000¢(0)0c0 00000000000
(000 0000)000: d(0): C®(M) —R: f— L(foc)(0).

(2)v:C®M)—RO p0OO000 00000 00,00000000: 3e:(—¢,e)— M :
C*>®-0 s.t. ¢(0) = p, ¢(0) = v.

0 11.5. M =R*, 00000 (zy,...,2,) 000. 0000,

(32-)p : C®(M) - R: f — 2L (p)
D000,000000: Vay,...,a0 €R, a1(3%)p + -+ +an(3%), 0 p0O0ODOOD.
0 11.6. (U,¢)0 M OOOOO,pelU 00, ¢=(zy1,...,2,) 000. 0000,

(32 )p : C®(M) = R: f = 22=(f o ") (0(p))
DDDD,DDDDDD:Val,...,anER,al(a%l)pqt---qLan(%)pD pO0O0D0DODO.

00 11.7. 0 1.6 000000, ¢: (—€,e) — M : t+— o L (p(p) +t(as,...,a,)) O C*-00
O000000.000000,e000000,¢(-<,6))cU0000DDDOOODODO.



12 000 A(2010/07/08): DODOOOO (2)
000000000 (00)

00 ¢=(x1,...,2,) 0000000000. 0000 (U,p) DOODOO o:U—-R*0O00O
oog, ¢ =(z1,...,2,) 0, R" 0000000 o 0000O000O0O0O. OO0OO,000000
i :R* = R:(2y,...,2,) —2; 00000,000000000;

zji=mj0p:U—R.

goooood

00 12.1. 000000 MO pe M OO 00O (tangent space) T,M 0000000O0:

T,M :={v:C*(M)—-R|v0OpO0o0oooa}
={d(0): C®*(M) =R |c:(—¢,e) > M:C>®, ¢(0) =p}.

00 12.2. (U,p) 0 M OOOODO,pev 00, ¢=(x1,...,2,) 000. 0000,0000
o0:

(1) TpM:Span{(%)p,...,(%)p},
(2) TpM:{UZOOO(M)HR|DD,DDDDDDDDDDD }

000,000000000000:Vf,geC™(M),v(fg)=uv(f)glp)+ flp)v(g)
00 12.3. 0000: YweT,M,v 000000000000,

0 12.4. 000000 MO n00000,7,M0 nO00000O0O0O00OOO.



13 000 A(2010/07/15): DO0OOOOO (3)

00 13.1. 00 ¢:(—e,6) > M O ¢(0)=p 00000000 ¢(0)0000. MO pO0O0
00000 (Uye) 00, ¢ = (x1,...,2,) 000, Ya,...,an) :=J(poc)y 00O0. 0O0ODO,
D000: d(0) = ai(7%)p-

gooo
0000,00 f:M—>NO C®-000,peMOO0.

00 13.2. 000000000 (df)y : TpM — TpyN : v (df),v O, fO pO0 D000
0oo:

(df)pv: CZ(N) = R: = v(§o f).
000 (df)veTyyNOOOOODDOOODOODO0DO.

od 13.3.D|:||:||:|(df)pDDDD,DDDDDD:
(1) D0 ¢D d(0)eT,MO00000,0000: (df)p(c(0)) = (foc)(0).
(2) MO pOODOO0OOD (Ug), NO f(p) 00000000 (V,¢) DDOO. OO,
o=(1,...,Tm), Y= (y1,-..,yp) 0O00. OOODO,0000:

(df)p(> ai(aizi)p) = Z:bj(a%,j)f(zv)7
000000, %b1,...,by) =J(@o foo ™ )uw - at, ... am).

0 13.4. 0000 (df), 00D00O0O00ODO.

goodoood

00 138.5. 0000 (df), 0000,000000:
() 00000000, 000000000000000. 0000, f:M — NOOO
g:N—LOC>®00000000,000000:VYpeM,d(gof)y,=/(dg)sp o (df)p.
(2) 0000 id:M—-MOODDOOO0,0000000,
(3) C>~-0000 f:M—-NOOOOOD,000000000.

0 13.6. MO NO C*-000000O0,000000CO0.



14 000 A(2010/07/22): DO0OOOO0O (4)
ogoogog
b, jdgogoooobobobobobobobobbobbob0dddooooooaag.

00 14.1. 000000 M OOO0O,
(1) TM :==]1,cp M (D00 [[0000000)0 000000 000,
(2) X:M—-TMO MDOO 00000 00,00000000: VpeM, X, €T,M.

0 14.2. UO R"00000000.0000,000000:Vf€C®U), X =3 fiz> O
Uvooooooo.

0 14.3. (U,¢) 0 M OOOOO0O0O0, o= (21,...,4,) 000.00 X0 MOOOOOOO
000.0000,000000:3f:U—R: X[p=Y fiz>

00 144. X O MOODOODOO0OO,X:C®M)—-C>®M): f—XfOOODOOODO:
Xf:M—-R:p— X,f.
oooo,00o0ooo:

(1) X : C®(M) — C>(M) 000,
(2) Vf,g € C*(M), X(fg) = (Xf)g+ f(Xg).

gdddddodooouoooogd

00 14.5. 00000000000000000000000000000,000000000
0O0O0: (1) 000000000, (2) C~-000,(3)000,(4) 0000, (G)o00onoo.
000,000000000000,100000000000000000000000,200
00000000000000.



